N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
5] L 5] 3] O
g ., : Lol g, g g
10 o R <O 210° 2
F oo = & 8107
I : . I B
10°F FAREALREE 10°F 3
3 N E 10?
1N -, 2L
10 ; P h 10 ; 10
. R . 10
10k [ERETRRLE 10F--}-- 4
I Y . ENI LI o fl 1
OL}E Ll “m—lrw tch hl200
27 — [— genMatch-chi
T ) - E' :$$ %Match-e i200
x 2 0 14 T TN T
1.5F - EEEERY | B2 E B e 15F--]-- 1.2
- sl -5 - <5 - -F et ool - 06f - -+ ;- -; 1
-25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
g ] g
ol ©10° s
: go
§
S 10

[N
(=}
)

10

Ratio

i
i : : : : i : i :
20 o 10 20 30 -30 -20 -10 O 10 20 30 10 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)




	Contents
	Page 1


